'Cél a dansé le couplet

pour Piano Marc Lamberg
J =120
- o o o o o o
’o\ A > =
o
y mp ritenuto mf
f) &
i = ' ¥ F
N3V  — 1
3
1 1 2 5 ] 3
4 4 3 4 12 1
—— —
y 4N I @ o
ANIV4 |
D = I ~—
=
o) # |
i ﬁ o . X
~— 4 3 1 e T
2 3 5 — 1
4 4 3 4 1 1 3 4
3 :
9 ﬂ ’! 1/‘- =
o = — —o—]
AN3Y ~— I ® .
Q) N\ —® D [e— ~—]
p . "2 e
o #
Yo & -
y4 = i
33 1 1
1 2 9 3 - ——
9 .ﬁ | | '
{os be —@ b e [ 2
A\\3Y o ®
mp ————— |mf° ——————mp
~ 7 e e~ poco  ritenuto
_.: z 1]
y4 ’ [ 4 ] ) .
L2 ! o #o- > §o
4 3 1 1 4 3 2 (h) \_—_____/1 N———/2
1 3 2 2 1
wWWwWw.guitares.org -1-



poco

ritenuto

s L ew’

| o @

Xy

G

fi v =

hed

N>

a Tempo

w e

ritenuto

L1 =

NS

[N

(™

o
|

o

N

a Tempo

fs v =

N

?

q
g
gL

N

e

1 =

N

?
Y]

ritenuto

o

1 =

$2s

NG o

)

Tel a dansé le couplet

_q_
|
'

juin 2006



